ENVNERBRER SRR FRHE LS

SE 7 R S
IR R PN G B 3 22 SR s i 2 i L= ) >
G
T = & = WO b
R 7 B HES 2 TR VA [T AT R T LA HpN
S 17} Jt = i
34 g #A L o
L (LR gy i
] ]
L 9 FH
( ) ( )
TEHEHE H &) HE (fF5 8% H )
TH - BT HK
AT FEREARR SERCHIRR
W1 R Y 552 A G T
F i L. R T 1 2 i
0. 72 AR T 13
(5) 3. A LW 15
AR AT AX A

&)
it
Alg
3




ENVNERBRER SRR FRHE LS

S

Tt

1T

J|||TT|

SR O - SR 4 NN PR e A 5 22 R A A i
2 T F B O HH R ARRTEET R PN
3 |E oM oH 14, 761.00nf
4 & F m M BNEENY : 576.00n EE&B: 576.00nt
5 ME R W O BNEENY : 576.00n KEF: 654.29nf
6 F T OH & TN
ESE - BWNEDY RCE+SHE  1RET
8% wE M &
9 T FH O Bl Ze IR A
0 T F N K =TT a3k

VA

>
BERE 6 #i




ENVNERBRER SRR FRHE LS

N O &
Eiti - TR IR
4 B oo e £ W i %
VAT | SR =1 it & b BN | B =1 it 4 #H
A HETEE HETHINA = 1.0
B i@
% [/ TR A L e ]
a B iy 1.0 Qe Y Gy |
% [/ s TR A L e ]
b B X 1.0 [ SfER R I T2 ]
% [/ TR L e ]
c — AR TR TZHJFAM X % =, 1.0 [k i T 2]
d BHIRAEA %
7 IEE (atb+ctd)
U B
it THflitE (A+B)
T B A 24 %8 10%
& B THE%




ENVNERBRER SRR FRHE LS

NoRE
Effi - LAE IR
4 2 T T = il
Wi MR W i 4 & BT KB W i & %

A EETER

| EHEE T «£ 1.0

2 eI T «£ 1.0

3 BRI LE = 1.0

o
1




ENVNERBRER SRR FRHE LS

N O &
Sl - rkE ZH A
4 B it R S e £ W 1
VAT | SR =1 il & b BN HE =1 il 4 b
1 EEEGETE
NES e = 1.0 [ BIARBHAHZ5001 2]
Eien =, 1.0 [ BB AI 250025 ]
PR iy 1.0 [ BRI 5003 ]

o
1




ENVNERBRER SRR FRHE LS

N R E
Fhii + LR AL i
% P T R T T
HAL | HE O H Ol 4 M OHfAL ) HE O HOl 4 %

2 ZERFRRNER R T

(1) el = 1.0

(2) | B R = 1.0

& F




ENVNERBRER SRR FRHE LS

W
% Bt W e o e A B %
WAL R B Al & o HAMN KEOR &
2\ ZEKHFNER N L
(1) B
ACP-112S BEHIE., v A7
Ry lr—vx7ar mERES 10, Okw A 6.0 [ RAEizE]
WEFSRE ST @ 11. 2kw
IAT-F
1127 27/ufl
BhE7— K R HIGA () +GA () | A 6.0 [RiEx %]
BEHH
Bigk B — ETHBARMT i 6.0 [BiizE]
BT, REI k4 Bk
FEHMEHIRE 800H ¥SmiHigRsD »>& | # 6.0 [ RAEisE]
IRIE &
eI & Ny B ZE KRR A 6.0 [ 55007 5]
BERA
bz N ¢ 200k g/m3 A t | 0.52 [ RAEisE]
BHETIAK
HLEWTT > H— &BILIR, M10, BEMF | A | 36.0 [ &8 ME #2025, 1, P275]
SUSH!  BS-H-VKN (42f)
U B N— Huf g 3t =) 1.0 [AFEE]
B




ENVNERBRER SRR FRHE LS

W ORE
Fht - JLRE SRR
% o o T % i
WAL R B Al & B #HE OB E &
(2) Bl
BRI B e ERAE E AMSm £29.526 | m 120. [AiszE)
LR T B W BERAE 0 a%  WiEWA1om %1599 m 120, [RfEz%]
HER Ve =& Hk BN—# 25P m | 25 [RissE]
BN, 26A, fRIEF-7
SR ML g DV¥yFH t=10mm m 4, [FiEs=]
TRIBALHE S — X RiEH 7563 m 30 [AFEE]
PRIBALRE 77— BIERL 100X 70 m | 20. [R5 %E]
PRIRALHE 7 — 2 ISR 140X 80 m | 25. [REiEE]
RS D EM-EEF2. Omn-3C, t'vb+ K m  120. [ RissE]
U = o ER EM-CEE-S 1.25mm2-2C, %W | m  60. [z Z]
N AR = /L 4% HIVE 16mm #&H m | 60. [FiEs=]
1 Fl R AR OF MM1 A% (25. 4mm) m 8. [AFEE]
8
1 il )@ HR Of WML AEL (25 4nm)  2MBAATE 00 ] 2. [BiszE]




ENVNERBRER SRR FRHE LS

N R F
% R I AL o e N "
WAL R B Al & B HAL HE OB &

el

FAEHEER X2V AfifE RCBE - K 100 ¢ X200mm | 73FT | 2.0 [RiEs%]
FEARAE A

XA MR R, FRkEREL | H 1.0 [FiEs=]
2

X BRERTE 74vh o Bt e 6.0 [ RissE]




ENVNERBRER SRR FRHE LS

MR
Sl - ek 25 S A .
% meo s o T x i we | = al
AR IR I I AT I
3 AR
(1) By AR i X Lo
(2)  ZETRRLARR X Lo




ENVNERBRER SRR FRHE LS

N E

# & f " ERVANNE-§° ;@Z m;; & B B HoR iﬁﬂﬁ{;ﬂ & H S i

(i) By iR
WATREE B R RS FEP (50) m | 14.0 [RAEf2E]
WA [EL AR FEP (50) 1 2.0 [AEZ5]
EAE HIVE (54) m | 26.0 [AFZ5]
AR IR =X 1.0 [ARzE]
MG SR ® 1.0 [RAE2E]
TINR Y T A 400X 400X 300 SUS WP 2.0 [RFEZE]
r—7n EM-CET60sq m 210.0 [RFZE]
B EM-TE5. 5sq m 210.0 [RAEE%]
B4 ZE s ELB3P150A MCB3P30A X6 [REiEE]
b= VRS L — R W=150mm 2{% [AFZ5]
HFEALHERS [RAEf2E]
I BT [RAZE]




ENVNERBRER SRR FRHE LS

N
i - TR LEHG
% B T T = m i
VAT | SR B 1 4 %A HAL | & B 1 4 %A
+T=H Tm (FX) X0.6m (EX) = 1.0

[AFZE5]

11




ENVNERBRER SRR FRHE LS

NoR E
ES T JE BT
# & f " AR ;%% E;ﬂ & B B HoR ; Xﬁﬁ & S i
(i) ZZFaRERLHLRR
EAE HIVE (22) m | 24.0 [AEZ5]
BB =X 1.0 [AFEE]
MG SR ® 1.0 [REEE]
r—7n EM-CE5. 55q-4C m | 30.0 [RFEZE]
THFEaRHERS = 1.0 [AFEE]
T E BT E20 1.0 [AEZ5]

12




ENVNERBRER SRR FRHE LS

E L BUHEEAH #5001 5

£ R an K Hfr | %% & B & %A i
WS e oY 1.0 [ BIREEA AN 25001 5]
ST S A% H=1.8m HiRI14 A m?2 85.6 [ Rz E50015]
TER 4 t fEb7y) H [ At 550065 ]

SIFEI A -1



ENVNERBRER SRR FRHE LS

E L BUHEEAH #5002 7

4 R A Kk Hfr | %% & B & %A i
Sk 2y 1.0 [BIAEEA #5002 5]
w4 1 B1) m2 85.6 [ ffiZ 550025 ]
#A RPN SIS m2 63. 2 [ ffZ 550035 ]

BIFEAE -2



ENVNERBRER SRR FRHE LS

E L BUHEEAH #5003

4 giiN (an £k AL B B LA il 4 % i
P AT = 1.0 [ BB 55003 2-]
P 1 B1) m2 85.6 [ 550045 ]
it SENEE o B Sy m2 63.2 [ Rl 5500575 ]

BIFEA-3



EIUNERERNEBSEARHERERTIE

Rffize & 001 =

WES &
£ H L Im2 4V

NO, 4 N ft ik B & O FTER | OH M & H " # i ES
[ s T A L Y ]

ey IRvA 1800mmifk JiF1 0.20 | 1.00 &S (2025, 1, P822)
EEEH30 H A+ Ak NS T A R ALY

7L BIGR 240 X 4000 X 25 b'e 0.20  1.00 mo WA (2025, 1, P822)
[ s TS fg o L Y ]
EEmEER A 1.00 H (/A3 T =HERFT 5775 HAl ]

Z DA, % 1. 00 [/ S e T = vk )

Rz -1




EIUNERERNEBSEARHERERTIE

iz % 002 =
=E
£ H L Im2 4V
NO, % % ft = B % B ORE | OH O R R i =
[/ J S0 T o S v )
WMIEELE BRI lE A 1.00 A [ TR S HA )
Z Dt % 1.00 [/ FEFR S T S A 2L e )
Reffize—2




EIUNERERNEBSEARHERERTIE

iz % 003 =
=E
£ H L Im2 4V
NO, % % ft = B % B ORE | OH O R R i =
[/ J S0 T o S v )
WMIEELE Wi H A T4y A 1.00 A [ TR S HA )
Z Dt % 1.00 [/ FEFR S T S A 2L e )
Rffize-3




EIUNERERNEBSEARHERERTIE

iz % 004 =
FEPRIE e
£ H L Im2 4V
NO, % % ft = B % B ORE | OH O R R i =
[/ J S0 T o S v )
] BRI lE A 1.00 A [ TR S HA )
Z Dt % 1.00 [/ FEFR S T S A 2L e )
Rofiize—4




EIUNERERNEBSEARHERERTIE

iz % 005 =
FEPRIE e
£ H L Im2 4V
NO, % % ft HE B % B ORE | OH & B B i =
[/ J S0 T o S v )
] Wi H A T4 A 1.00 A [ TR S A
Z Dt % 1.00 [/ a5 T S A 2L e )
RffiZe-5




EIUNERERNEBSEARHERERTIE

R
N7 v 7 iEkR (4 t FH)
4 H L 1H =)
NO, 4 i (55 HBA BB ER it & 2 it =
[N e e T e e e v )
EHRT (—%) A 1.00 H [/A3 TR G975 B ]
R 0 L 27.90  1.00 Fii [ 3% 12024, 4, P788]
Wt R #H A 1. 00 Fii [ 3212024, 4, P802]
Z DA, % 1. 00 [ Je e T = a vk
R AfiZ-6




EIUNERERNEBSEARHERERTIE

RAfie & 007 =
e U2

& L 1 %Y
NO, £ R ft: (55 HAr B B ER| OH M 4 H 2 it =
[/ ST T ol e L e )
B 12. 5kWEA T, BN, BEHE A 1.00 H (/A3 T =HERFT 5775 HAl ]
[/ S s T ol L e )
B 12. 5kWLLF, oM, BEHE A 1.00 H (/A3 T =HERFT 5775 HAl ]
Z DA, % 1. 00 [/ S e T = vk )

A7




EIUNERERNEBSEARHERERTIE

iz 45 008
e U2

& L 1 %Y
NO, £ ft: (55 B B B E R OH M 4 HE 2 i =
[/ ST T ol e L e )
B 14. 0kWLA T, BNHE, KESTE A 1.00 H (/A3 T =HERFT 5775 HAl ]
[/ S s T ol L e )
B 14. OkWLL R, oM, KE X A 1.00 H (/A3 T EHERFT 5775 HAl ]
Z DA, % 1. 00 [ S e T = E g k)

A28




